OBELBIHERUVBHEONRILFMERIRFHER
2. HESBRIOET (BR/NESR)

x2—-1 2F - %EH
(1/1R=%)

REFEMB(H) _ o _ . o
Wy TP E (kg/F 5 VIR | FHEBEE (kg/&F; 5 VIR | Fdd - BEBESE (ka/F;
mg-TEQ/4F) mg-TEQ/ ) 97 %94 1Emg-TEQ/ %)
e %E E3
4] WELTH on | 214 [ro1a 200 a |so1a | o | 214 [101A f200a [s01a | ox | 214 [r01a 201 A [s01A ] on | 214 |101A [ 200A | s01A [ o | 214 [r01A | 201a | sotA | on | 21A [ 1014 | 2014 | 5014
= Y\ -~ ~ ~ -~ ~ ~ -~ ~ ~ -~ -~ ~ -~ -~ ~ -~ ~ ~ -~ ~ ~ -~ -~ ~ -~ -~ ~ ~ -~ ~
&S 20A | 1004 | 200A | 500 A 20A | 100A | 200X | 500 A 20A | 1004 | 200\ | 500 20A | 100A | 200A | 500 A 20A | 100A | 2004 | 5004 20A | 100A | 200A | 5004
BlTFLAVEY 12591 306 5| 17| 14 0 1 0 0 0|12658| 310 5| 19| 15 2 3 1 3 0 0 0 0 0 0 2 3 1 3 0
BlTFLY Y= ILE I AFILI— 0 0 0 0 4 0 0 0 0 of o 0 0 0 4 0 0 0 0 10 0 0 0 0 0 0 0 0 0 10
T

XLy 12876 324 21 44| 100 1 3 0 1 1]14079| e43] 67| 61| 102 6 5 1 34 37 0 0 0 2 0 6 6 1 36| 37
23|54 X m 0 0 0 1 2 0 0 0 1 of o 0 0 1 3 0 0 o| 9.3p.00667 0 0 0| o.058 0 0 0 0| 9.358]0.0066
1 71
296|1, 2, 4—RNUYXFIANVEY |[12619 314 10| 28] 43 1 1 0 0 1|14010| es1| 57| 55| 75 2 1 0 7 5 0 0 0 0 0 2 1 0 7 5
297(1, 3, 5—RUYXAFIRVEY 5869 210 1l 10 1 0 0 0 0 0| 9496| 259 1l 13 3 0 0 0 0 15 0 0 0 0 0 0 0 0 0 15
300 ~LT Y 12011 327 24 61| 114 0 2 0 0 1]12937| 3209 24| 61| 15| 55| 82 7| 34 49 0 1 0 0 of 55| 83 7| 34| 49
3NN/ I—~FHY 12726] 318 17| 38| 55 0 0 0 0 112792 319 17| 38| s6| 122] 179 26| 21| 148 0 0 0 0 ol 122 179 26| 121 148
1) BRI 12694 311 8| 2| 25 0 0 0 0 0|12728] 315 8| 2| 25 11 17 13 18 63 0 0 0 0 0 11 17 13 18 63
WA FIFTHL Y 1 0 0 2 4 0 0 0 0 o| 233 9 0 2 6 0 0 o| 4 20 0 0 0 0 0 0 0 of 4] 20
&5t 82287| 2110| 86| 225 362 2 7 0 2 4|88933| 2835| 179| 274| 404| 198 287| 48| 262| 346 0 2 0 2 o| 198] 283| 48| 264] 346

BEHEE - TRI0EE




